Hypocykloida — predizena c>r>0, R>r>0

) tGR.,

(R—r)t
R

x = (R—r)cos % + ccos ROty = —r)sin % — csin

x = (R—r)cos p + ccos B=De r)“a .y = (R—r)sinp — csin @, pER.

x—(\/ifl)rcos—+7cos(\/%1)t (\/771)rcos<p+ L cos (V11—1)p
y*(\/i—l)rslnf—i’sinm y:(\/i—l)rslnap—Tsln(\/li—l)gp

t€(0;20.5631m) o Y ©€(0; 6.27)

R = V11r, c:%

K K

e
5

t=0 $=0

K> > [=]pr]+] K< [=]pHl+]

beerb@frcatel.fri.uniza. http://frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb



